CSCI 201 Spring 2004 Supplemental Homework on Arrays

Below are 10 problems each requiring you to create an array.  For each problem, write a segment of code to create the array specified in the problem.

Problem 1.
Create an array of Strings and initialize the array to store 4 strings of your choice using an initialization list. 

Problem 2.
Create an array of 60 integers and initialize the array so that 1 is stored at odd index positions and 2 is stored at even index positions.

Problem 3.
Using the PositiveInteger class below, create an array of 60 PositiveInteger objects and initialize the array so that the instance variable posInteger has the value 1 for objects stored at odd index positions, and the value 2 for objects stored at even index positions.

public class PositiveInteger {

      private int posInteger;

      public PositiveInteger(int number) {

     

setInteger(number);

      }

      public int getInteger() {

         return posInteger;

      }

      public void setInteger(int number) {

         posInteger = Math.abs(number);

      }

}

Problem 4.
Create an array of 50 floats and initialize the array so it contains the values indicated below.


Problem 5.
Using the PositiveInteger class below, create an array of 60 PositiveInteger objects and initialize the array so that the instance variable posInteger has the value 5 for objects stored at index positions that are divisible by 5, and the value 1 for all other objects.

public class PositiveInteger {

      private int posInteger;

      public PositiveInteger(int number) {

     

setInteger(number);

      }

      public int getInteger() {

         return posInteger;

      }

      public void setInteger(int number) {

         posInteger = Math.abs(number);

      }

}

Problem 6.
Create an array of 50 characters and initialize the array so that the characters ‘a’, ‘b’, ‘c’ are repeatedly stored in the array as illustrated below.


Problem 7.
Using the Pattern class below, create an array of 11 Pattern objects storing the values indicated pictorially below.

public class Pattern  {

      private int x, y; 


public Pattern(int xval, int yval)
{



x = xval;



y = yval;

}


public void draw (Graphics page)  {

            int diameter=20, numberCircles=5;

            Color color=Color.blue;



int width = (diameter/2) / numberCircles;



for (int count = 0; count < numberCircles; count++) {




if (count % 2 == 0)  // set colors





page.setColor (color);




else 





page.setColor (Color.white);




page.fillOval (x, y, diameter, diameter);




diameter -= width * 2;




x += width;




y += width;



} 


}

}

Problem 8.
Using the Dog class below, create an array of 10 Dog objects storing the values indicated pictorially below.

public class Dog {

   private int weight;

   public Dog (int wt) {

      setWeight(wt);

   }

   public setWeight (int wt) {

      if (wt > 0 && wt < 300)

         weight = wt;

      else

         System.out.println(“invalid entry for weight”);

   }

   public int getWeight () {

      return weight

   }

}

Problem 9.
Create an array of 15 integers and initialize the array so that 1 is stored at index position 0 and all subsequent elements store the sum of the numbers stored in front of them, as illustrated below.




Problem 10.
Create an array of 25 String reference variables.  If you do not initialize this array, what will be stored in each element of this array?
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